STANDDEVe  (by Joe Erdeky, erdeky@inbox.com)

The Program shows the steps used to hand compute the STANDARD DEVIATION of a sample entered in L1. This includes the deviations from the mean in L2 and the deviations squared in L3. Given are the sum of L1 and the sum of L3. Then you will see the parts used to find the VARIATION and the standard deviation. 
First put the measurements X into L1.
 [STAT] 1                       [PRGM] STANDDEV   [ENTER]            [ENTER]
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Other programs by this author are at 

http://www.ticalc.org/archives/files/authors/109/10933.html
------------------------------------------------------------------------------------------------------------

